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Which one of the following is not
correctly matched ?

Union Territory Literacy rate (%)
2011

A) Lakshadweep 92.28

(A)

(B) Daman and Diu 87.07
(C) Puducherry 86.55
(D) Chandigarh 88.78

‘Sileru’ Power Project is concerned
with

(A) Natural gas

(B) Atomic power

(C) Hydro electricity

(D) Thermal power

Who wrote the famous book,
“Main springs of civilization” ?

(A) Carl O-Saver

(B) Griffith Taylor

(C) James and Martin
(D) Huntington

Who is the author of ‘The People of
India’ ?

(A} B.S. Guha

(B) Sir Herbert Risley
(C) J.H. Hutton
(

D) D.N. Majumdar
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What is ‘Viticulture’ ?

(A) Protection of forests

(B) Production of Grapes

(C) Types of primitive agriculture
(D) Production of Sugarcane

Which one of the following statements
is true ?

(A) Special Economic zone is a
geographical region and has
economic laws.

(B) Special Economic zone is a natural
region and has natural laws.

(C) The main aim of the special
Economic zone is to promote local
trade.

(D) The purpose of special Economic
zone is to accelerate the
agricultural production.

Who wrote the ‘Cosmos’ ?
(A) Ritter (B) Humboldt
(C) Ratzel (D) Huntington

The term ‘Ecosystem’ was coined by

(A) Christman (B) Tansley

(C) Elton (D) Odum

Who one of the following presented the
theory of the Location of Industries ?

(A) Von Thunen

(B) Alfred Weber
(C) W. Christaller
(D) A Losch
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Ninety percent soil of China s

(A) Loess
(B) Alluvial
(C) Pedalfer
(D) Loess and alluvial
“Geography is a chrological science” is
a statement made by
(A) Ritter (B) Huntington
(C) Hettner (D) Brunches
Match List — | with List — Il and sglect
correct answer from the codes given
below :
List -1 List =i
(Geographers) (School of
Geography)
a. A. Demangeon 1. Germman School
of Geography
b. F. Ratzel 2. American
School of
Geography
c. H.J. Mackinder 3. French School
of Geography
d. I. Bowman 4. British School
of Geography

Codes:
a b ¢ d

A 4 2 3 4
B) 2 1 4 3
€ 3 1 4 o
D) 1 3 2o 4
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13.  Which of the following is herbivorous
component ?
(A) Lion
(C) Tiger

(B) Deer
(D) Frog

14. What is the solution of energy crises
in the world ?

(A) Alternative energy
(B) Energy rationing
(C) Petroleum
(D) Coal

15. The concept of primate city was
propounded by
(A) Zift (B) Jefferson

(C) Mumford (D) Sjoberg

16. The highest rainfall in India occurs

(A) Western Ghat, Himalayan region,
Meghalaya

(B) Madhya Pradesh, Bihar
(C) Uttar Pradesh, Hariyana, Punjab
(D) Andhra Pradesh, Vidarbha

17. The concept of ‘areal differentiation’ is
also called

(A) Exceptionalism
(B) Chorology
(C) Systematic Geography

(D) Regionalism
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18. Which of the following forests is called
‘L.ungs of the Earth’ ?

(A) Tropical rain forests
(B) Mediterranean

(C) Monsoon

(D) Coniferous

19. Continental Drifttheory was propounded

by
(A) Daly (B) Joly
(C) Wegener (D) Holmes

20. Match List — I with List — Il and select .
the correct answer using the code

given below :

List -1 List—- N
(Oceanic deposits) (Origin)
a. Neritic matter 1. Shells of

planktonic
molluscs

b. Pelagic matter 2. Plant shells
made of silica
in microscopic
in size

c. Pteropod coze 3. Dead skeletons
of marine
animals
and plants

- d. Diatom ooze 4. Type of algae
Code :

(A)
(B)
(C)
(D)

N W= W oD
A= W s T
W & N = 0
- N A~ N o
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‘Kuzbass’ regiomrisfamous-for

(A) Iron Ore
(B) Copper Ore
(C) Gold

(D) Coal

Rotational slip hypothesis propounded
by W.V. Lewis is associated with the

formation of

(A) Fault

(B) Cirque

(C) Pediment
(D) Solar system

Which city is called ‘The Manchester
of India’ ?

(A) Kanpur
(B) Mumbai
(C) Baroda
(D) Ahmadabad

Who is the ‘Father of Geography’
among them ?

(A) Ptolemy

(B) Eratosthenese
(C) Herodotus
(D) Aristotle

Who wrote the book ‘Meteorologica’ ?
(A) Aristotle

(B) Posidonius

(C) Plato

(D) Eratosthenes
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i : is called
P — Y T ST 26. Heat transferis c
(a) © (A) Conduction
®) © (B) Convection
(©) Tt s (C) Heat Radiation
(D) Torer Tk e (D) Electromagnetic transfer
27. AR ATF AR E, R AT (A) 27. Two statements are given belﬁw. %ne
: ' r
T THL 1 T (R) o &9 F R o 2 Ilat;e::eg 7 A;sertlcn ((2; ag::teft c:/o:jr
abelled as Reason (R).
:ﬂ%ﬁaﬁ@ﬁaﬁwwwﬁﬁm answer from the codes given below :
m (A) T wam & S &iw Assertion (A) During the summer
AUSH < WA W R 500 et IR & monsoon period a thermal anti cyclone
R AR Wi THaTi 9 i Fefe is formed in the middle part of the
HEHEH o T 3c9+ Bl &1 troposphere at 500 mb level over
Tibetan Plateau.
TR (R) foo5d YoR S=9 aefia s Al _
& w s ot 3 R.eason (R) Tibetan plateau acts as a
: high-level heat source.
RE: Codes :
A) (A) 3R (R) 21 Tt € e
(A) ;ﬁ )ﬁ (R) %‘T@% (R), (A) (A) Both (A) and (R) are true and (R)
ol ATl is the correct explanation of (A)
B) (A [ ot
(B) ?(ﬁ ) ¥ (R) 2T @t & aerr (R), (A) (B) Both (A) and (R) are true and (R)
e =T TE B Is not correct explanation of (A)
85
(C) (A) 41 8 T (R) T 2 (C) (A)is true but (R) is false
(D) (A) 71T & 9% (R) ot 2 (D) (A) is false but (R) is true
28. & °iy gy W fTe 28. Tehri Dam situated on the meeting
(A) FTeTeT=aT aa qrfief % place of
(B) et o e 3 (A) Alaknanda and Bhagirathi
B) Bhagirathi and Bhi
(C) IAHA=T 9T A<1leht & ((c; Alak?'l ciI - dM "azgana
anda and Mandakini
(D) *iieeft o weafoht (D) Bhagirathi and Mandakin
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Examine the foll

select the correct answer using the
code given below :

1. The Southern Oscillation is closely
linked with Walker Circulation.

2. Gilbert Walker was Head of the
Indian Meteorological Service.

3. The positive index of Southern
Oscillation indicates weak trade

winds.

4. The negative index of Southern

~ Oscillation indicates high pressure

overIndian Oceanand low pressure
over East Pacific Ocean.

Codes :

(A) 1, 2 and 3 are correct
(B) 2, 3 and 4 are correct
(C) 1, 2 and 4 are correct
(D) 1, 2, 3 and 4 are correct

Whatis the average annual temperature
of ocean ?

(A) 63° F
(B) 74°F
(C) 35°F
(D) 60° F

The term ‘Green Revolution’ was first
used by

(A) Dr. William Gaud
(B) Dr. Norman Borlog
(C) Dr. Swaroop Singh
(D) Dr. Richard Bedfield
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al1E . ‘ s A ;
. ‘ ent Protection Act
32. e e sfifr o A |02, Whon s ERETT
T T T ? (A) 1986 (B) 1998
(A) 1986 (B) 1998
: C) 1981 (D) 1974
(C) 1981 (D) 1974 (C)
33. Feiffan wweild g weafrmamn | 33, TSUNAMY word belongs to which of
' JgEEE 2 ? the following languages ?
' i (B) Chinese
(C) SaTht (D) f&s. (C) Japanese (D) Hebrew
34. wrRal faeam 2 34, ‘Kalgoorlie’ is famous for
(A) FU1 et o forg (A) Gold Production
(B) 3w Sty & forg (B) Good Climate
(C) Trem = forg (C) Education
(D) Tt e & fog (D) Poultry
35. TEE e g WRAA S i b fhe | 85, Sir Herbert Risley classified the Indian
Gk Sfieha ToRaT T o 7 Races into how many groups ?
(A) 8 (B) 6 (A) 8 (B) 6
(C) 7 (D) 9 (C) 7 (D) 9
36 __ TS hl A smeREr | 3, latitude is called Thermal
EXARSIGIEA Equator.
(A) 20° Zfzmii (B) 15° faruft (A) 20° South (B) 15° South
(C) 15° 31 (D) 20° Il (C) 15° North (D) 20° North
37. “drnfas w7 awd 4 98 waf ¢ e 37. "Geographical cycle is the period of
SA U, 3fed gEve qwad & Taa time during which an uplifted land
e s P mass undergoes its transformation by
ERT e S ileIset] G iﬁfﬂ?ﬂ afetdd the process of land sculpture ending
FT ST 87, T8 F44 faml 2 in low featureless plain” This is stated
(4 TEA B) fned oY
A ek (A) Powl (B) Gilbert
RAZL (D) Aved (C) Davis (D) Sanders
*
S A
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(B) ﬁﬁﬁa@ﬁwaﬂua'—r
(C) EfRoft TS, <Al TG Ya
(D)gﬁﬁam
40, TSI TR A TS 4l HTEl Ueh ISR ©
(A) SETE IH (B) ¥ [
C) TR (D) T A
41, e e g R ?
(A) St =
(B) Wi
(C) Tl =1
(D) JrEH <
42. Fefafag 3 A o o 9 Seer o i
T w2 ?
(A) T (B) I
(C) ==d (D)
43. Frhg-Hifem S wel A e 7
(A) e weramR
(B) WSt HETETR
(C) AThfees ne@rr
(D) S & =1g e
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38. Shevaroy hills are situated in
(A) Karnataka (B) Kerala
(C) Maharashtra (D) Tamilnadu

39. ‘Roaring forties' is associated with

which of the following winds ?

(A) Trade wind

(B) Westerlies of Northern
hemisphere

(C) Westerlies of Southern
hemisphere

(D) Polar winds

40. Chambalriver valley inMadhya Pradesh
is an example of
(A) Bad land
(C) Plateau land

(B) Desert land
(D) Flat land

41. Whose science is Petrology ?
(A) Of rocks
(B) Of animal
(C) Of Vegetation
(D) Of the season
42. Which one of the following river does
not make a delta ?
(A) Ganga
(C) Kaveri

(B) Yamuna
(D) Narmada

43. Where is the Cocos-Keeling basin
located ?

(A) Indian Ocean
(B) Pacific Ocean
(C) Arctic Ocean
(D) Nane of the above

PG-05/A
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TR Jeae fopa foret @ 7
(A) ST
(B) 3.4, Arum
(C) &fdmmes
D) firfteer 3R
45. Ig Treeh1 A & T Wia A oy wHsTe

% yepfar & gry FRufia < v dimmed =i
Teh ¢ 3R M wer fem g 2

(A) . &R

(B) .37, ¥R
(C) . Wt
(D) . sl

46. e & AT S E R TR TR E ?
(A) T3 geilee
(B) 3. wwe
(C) =Tl Rex
(D) AR, BRIH
47. Tt yenfa st e s & 7
(A) Hiesee
(B) I8t ShfogAfamn

(C) game
ORIGES

48. A HA RO 3
(A) femere fagaor
(B) a1y feraw
(C) T fAgrqur

(D) U eTotea
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o nfannranhin Environmaons
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“Influen
is written by

(A) Broman

(B) E.C. Semple
(C) Huntington

(D) Griffith Taylor

Who coined the sentence ‘Man has
advanced one more stage in his
adjustment to the limits laid down by
Nature’ ?

(A) G. Taylor
(B) C.0O. Sauer
(C) L. Febvre
(D) I. Bowman

Who is said the father of Exceptlonahsm
in Geography ?

(A) A. Von Humboldt
(B) E. Kant
(C) Karl Ritter

(D) R. Hartshorne

Where does the Dinaric race live ?
(A) Switzerland

(B) North Scandinavia

(C) Portugal

(D) Poland

Delta Kame is the resuit of
(A) Glacial Deposition
(B) Wind Deposition

(C) River Deposition
(D)

D) Glacial Erosion
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(A) TR il
(B) & fafvran
(C) TR T
(D) T GUT FUH

et

(A =4 09
(B) WEg A
(C) = am
(D) =I3 &

"R T153 T HANUH AT fohaT
(A) S

(B) T

(C) ATHe

(D) it forewm

S 39 % ia Tad SSl I B g 7
(A) BRel

(B) B

(C) =431,

(D) Ferpieg

Ty U e wrlEn afided (2015)
% ATAT 188 71 % AT FeremT Ghich
dand _ #RWR

(A) 131
(€) 139

1 T eI B

(B) 119

(D) 147
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Which one of the following is mot-an
approach of Human Geography ?

(A) Quantitative Revolution

(B) Areal differentiation

(C) Spatial organization

(D) Exploration and description

Nimbostratus is an example of
(A) High clouds
(B) Medium clouds
(C) Low clouds
(D) None

‘Plate’ word first used by
(A) Deitz

(B) Mason

(C) Blackett .

(D) Tuzo Wilson

Which one is Largest Island in Japan ?
(A) Hokkaido '

(B) Honshu

(C) Kyushu

(D) Shikoku

According to United Nations
Development Programme (UNDP)
Report (2015) India ranks out of
188 countries in Human Development
Index (HDI),

(A) 131 (B) 119
(C) 139 (D) 147
PG-05/A
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54, T e Td qE i TSR % AEA 54. Which of the following mountain plays
582 e e § S w1 B Hl a dividing role in between Ganga plain
39 and Deccan Plateau ?
(A) TTae vea (A) Arawalli mountain
B) forea wdq (B) Vindhya mountain
(C) Y Taid (C) Satpura mountain
(D) 3teT=T 9ad (D) Ajanta mountain
55. uitae-ure = g W A o I T 55. The Western Ghats are also called
(A) Trarferes Soft (A) Shiwalik Range
(B) favar=a goft (B) Vindhyachal Range
(C) Sttt uit (C) Ajanta Range
(D) @enfx Soft (D) Sahyadri Range
s6. ol Ais A s R yFue s | 56, Who is the author of “Theory of the
FIAEHFHAE 7 Earth with proof and illustration” ?
(A) T, . Sfed (A) W.M. Davis
(B) I g (B) James Hutton
(C) TH. ToeY, qEnS (C) S.W. Wooldridge
(D) T3, IR, T (D) H.R. Mill
57. %ﬂﬁﬁﬁ@rﬁlﬁaﬁﬁﬁﬁmﬁ@-w 57. The rigid masses surrounding the
EalcacieAn 9 fea | geosyncline were termed by Kober as
| (A) SATTSH (A) Orogen
| (B) WTEATFR (B) Primarumph
i (C) fermfiert (a7 yddig Tavg) (C) Zwischengebirge
F, (D) oM (D) Kratogen
§
|
]
! !

T —
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58, TAING T Y srauwen frw o A 58. In which of the following year concept
werrel | AR 7 of Sustainable Development came in
i
] light 2
i (R) 1992 (B) 1991 (A) 1992 (B) 1991
E (C) 1990 (D) 2005 (C) 1990 (D) 2005
59. ‘fom §= UM WigueER few ¥ A 59. In which country ‘Big Inch’ Petroleum
genfera et @ 7 pipeline operates ?
(A) I3 (A) UALE.
B) 3. W5 (B) U.S.A.
(C) &4 (C) Russia
(D) W (D) Venezuela
60. T ol TehedHl FAUR 60. The concept of panplains was
: T presented by
®) UE. T | (B) A.K. Lobeck
| cudm - | @ - (C) A. Holmes
(D) zﬁ.@_ W (D) C.H. Crickmay
61. wﬁﬁazﬁqwaqmﬁgm gae? 61. Whichis an area of Tropical evergreen
forest ?
A E
A t@m (A) The Eastern Ghat
(8) 7oA 311 (B) Madhya Pradesh
(C) wfvet ure - (C) The Western Ghat
(D) ufgerdt feure™ (D) The Western Himalayas

62. A U U St i bt W fy wrg 7 62. When the National Water Policy was
started in India ?

(A) 2014 (B) 2012
(C) 2018 (D) 2016 (C) 2018 (D) 2016

(A) 2014 (B) 2012

P 1 PG-05/A
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63.

64.

85.

686.

67.

seRfrn & fr § @ o ot Searyg T
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(D) F. F=
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What type of climate under the |
following is found in Indonesia ?
(A} Monsoon climate

(B) Equatorial climate

(C) Tropical climate

(D) Hot-wet climate

“Man is the latest agent in fashioning

of landscape”
The above statement is given by

(A) Blache

(B) Demangeon
(C) Saur

(D) Brunhes

The term ‘rock stream’ is associated
with

(A) River

(B) Underground water

(C) Periglacial

(D) Water fall

Who of the following firstly used the
term ‘Biodiversity Hotspots’ ?

(A) Norman Mayar
(B) D.R. Batish
(C) C.J. Baero
(D) D. Kaestry

What is ‘Jhum’ ?

(A) A folk dance

(B) The name of a river valley
(C) A tribe

(D) A type of cultivation
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a. Al 1. 1889
b, TR 2. 1953

c. TR 3. 2004
d. feEis 4. 1954

©
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(B) e
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Match List-l with List-1l and select
correct answer using the code given
below :

List -1 List =i
Mineral Oil Discovery Year

Producing Areas

a. Mangala 1. 1889
b. Naharkatia 2. 1953
c. Badarpur 3. 2004
d. Digboi 4. 1954
Codes:

a b c¢c d
Ay 4 3 1 2
B 2 4 3 1
¢ 3 2 4 1
o 3 1 2 4

Which one of the following has the
longest duration ?

(A) Eons
(B) Era

(C) Period
(D) Epoch

Who is the pioneer of modern
oceanography ?

(A) John Marray
(B) Thompson

(C) Louis-Agassiz
(D) Edward Forbes

PG-05/A
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71. F=kifed # @ <59 91 & o w9 §
e 5/ § foreme daun & gieed Y

et geifq wai g ?

(A) TRREH TRIgs, difem FanEe,
Ficram gehe, PARRY Toke

(B) *ictrm wethe, AR wethe,
AR Fge, Wi e

() Sifeam weings, dmfirm T,
Ffcay aebe, TARTm aethe

(D) AR gehe, FAlEH Frme,
ST gethe, Gifsad soiREe

72. I WD A1 HRh G & ferawo =

T T ot ?

(A) T i Tertuii < wiomenss T
(B) f&a <1 wmams

(C) A & g % wem i

(D) i e

TTH A EH e By e ? 7
(A) =T (B) &

(C) X (D) TS
Tefaiad @ @ F19 91 U9 91 7
=1 ¥ IQEH T R 7

(A) T

(B) FHicH

(C) afaeTg

(D) TR

73.

74.
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Which one of the following represents

correctly the percentage of sea salts

in the Oceanic water in an ascending
order ?

(A) Magnesium Chloride, Sodium
Chloride, Calcium Sulphate,
Magnesium Sulphate

(B) Calcium Sulphate, Magnesium
Sulphate, Magnesium Chloride,
Sodium Chloride

(C) Sodium Chloride, Magnesium
Chloride, Calcium Sulphate,
Magnesium Sulphate

(D) Magnesium Sulphate, Magnesium
Chloride, Calcium Sulphate,
Sodium Chloride

Which one of the factors does not
affect the distribution of Insolation on
the earth ?

(A) Angle of the Sun’s Rays
(B) Length of Day |

(C) Distance between Earth and
Sun

(D) Under ground Water

Among following Geographers who is
the British Geographer ?

(A) Blache (B) Haggett
(C) Hettner (D) Retzel

Which one of the following States is
leading producer of coffee in India ?

(A) Kerala

(B) Karnataka
(C) Tamil Nadu
(D) Maharashtra
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Karst plain is the example of
(A) Plain of Yugoslavia

(B) Plain of East England
(C) Plain of Denuv

(D)

D) Plain of Finland

Which one of the following States has
the longest coast line ?

(A) Tamil Nadu
(B) Maharashtra
(C)

(D) Gujarat

Kerala

What is the main cause of heat
generation in the interior of the earth ?

(A) Disintegration of radio-active
elements and conversion of
gravity force into thermal energy

(B) From Planetary accretion
(C) From adiabatic compression

(D) From insolation

‘Blue Revolution” means
(A) Fisheries

(B) Poultry
(C)

(D)

Honey-farming

Pig farming

Herodotus belongs to

(A) Egypt (B) Turkey
(C) Greek (D) France
PG-05/A
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80. Temiforan < wemmi o1 Sfietur foher SATEIR
R fem g ?
(A) ST o STUR W
(B) fmior g o SATUR T
(C) urea i@ gl o U R
(D) STTHR o TR T

81, PR i AT A TH FHTAR ?

(4) ST I HEEIT A T S
YT 8

(B) Teh Td AR (@1l o Hed Sferenan
HEETTOE SE0TdT T8 St 8

(C) T, =1 3R ged ue e | gl
Y SaR AT §

(D) 3= HTRE SR 12 W2 20 fFe &
HA W AT 2

82. T H T WETEU & 9T o Figd &
(A) TRTEIE THe™
(B) HETEUT AHae
(C) maTEdrT e
(D) HEHEITH %k

83. Traz =t uftomm 2
(A) TaeH @l
(B) g =
(C) AT 1
(D) F&H <l
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On what basis has Demangia classified
the houses ?

(A) Based on functions

(B) Based on building material
(C) Based on relative distance
(

D) Based on size

Which one of the following statements
is true 7

(A) Benguela is a cold current of
Pacific Ocean

(B) Maximum oceanic salinity is found
between Tropic of cancer and
Tropic of capricorn

(C) When the sun, moon and earth are
in a line then Neap tide occurs

(D) Highseatides occur afteraninterval
of 12 hours and 20 minutes

Submerged part of the continent is
known as

(A) Continental slope
(B) Continental shelf
(C) Continental coast
(D) Oceanic Ridge

Rift valley is the result of
(A) Warping

(B) Faulting
(C)

(D) Folding

Nappe
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84. Which one of the following statements
depicts correct explanation of population
Threshold for any service 7 |

(A) Maximum distance that people
can travel to use a service.

(B) Minimum distance required for
opening a service.

(C) Minimum population size required
for a service.

(D) Maximum population size required
for a service.

85. Temperate Cyclones occur between

which latitudes ?

(A) 35° to 65° North and South
(B) 40° to 70° North and South
(C) 30° to 60° North and South
(D) 60° to 75° North and South

86. The Ozone layer lies in the
(A) Troposphere
(B) Tropopause
(C) Photosphere

(D) Stratosphere

87. Abyssal plains are found in
(A) Lower river valleys
(B) Oceanic trenches

(C) Submarine canyons

(D) Deep sea plains

88. Terrigenous deposits are found in

greater extent in

(A) Arctic coast

(B) East African coast
(C) Near the East Indies
(D) North African coast

PG-05/A
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B

89. WFR (T W) wf@ad| | 9. Sagar lsland (Ganga Sagan) flos o
) tho
(A) =T =61 WIS  FETE 7 72 (A) Continontal sholf of Bay of Bonga
(B) 7T SE e (B) The Ganga-Brahmaputra Plain
(C) st S et & TR e Conlinental slopo of Bay of Bangal
(C)
(D) Tsg T HeH (D) Middle Ganga Plain
0. ITgHSd Wl # Freeh wa iR 7 90. Which is the Lowor Layer in
o i
: ratosphe
(B) Radw Hew (B) Troposphera
(C) SIS wed (C) Ozonosphere
(D) siedea (D) Exosphere
91. Q‘W% 91. Anthracite is a
(A) ST (B) d (A) Coal (B) Oil
92. T - | I G ~ I} B gofera Hifsre qen 92. Match List — | with the List — Il and
ﬁ%ﬁ%nﬁ@ﬁaﬁwmwm: select the correct answer from the
codes given below :
-1 -l List - | List — Il
st H st AT 8 Revolutions in India Associated with
a. FIel (TI) F 1. AR a. Black Revolution 1. Apiculture
b. Hia sl 2. 3] b. Yellow Revolution 2. Potato
c. IR Il 3. fdete c. Brown Revolution 3. Qil-seeds
d. aga%ﬁ 4.‘3@%1?1113&13:[ d. Round Revolution 4. Petroleum
. production
FE
a B & d Codes :
4 2 1 a boc d
(A) 3 Ay 3 4 2 1
® 2 1 3 4 B 2 1 3 4
c 4 3 1 2 C 4 3 1 o
o 1 2 4 3 Gy 1 2 4 3
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98. Truck farmingisassociated with
(A) Vegetables (B) Milk
(C) Cereals (D) Poultry

94. What is Willy-Willies ?
(A) Tropical Cyclone
(B) Temperate Cyclone
(C) Warm Front
(D) Cold Front

95. i A &/ form w1 o waifte pici 95. Which one of the following countries

me 27 has the higher sex ratio in the world ?
(A) ST (A) Japan
(B) W T4 AR (B) U.S.A.
OEEIN (C) Brazil
(D) Giferd &9 (D) Soviet Russia
96. I T —  96. 'Yurt is the house of
(A) TFEHAT T (B) Frefeiar | (A) Eskimos (B) Kirghiz
(C) Tl <61 (D) ST (C) Pygmies (D) Bushmen
i 97. m%?«ﬁ%—mﬁﬁa‘i%mﬁﬁm % 97. V\fll']ich on(:,;i Oftthel fozllov;ringfslegye?ces
freffea ot o ? of iron and steel plants of india from
2 EZEEELRELESE North to South is correct ?
FFR WEsC Tl (A) Bokaro-Burnpur-Jamshedpur-
(A) - -STHRIE- Rourkela
T LTl (B) Bokaro-Jamshedpur-Burnpur-
(B) -smélagt—a:igt- Rourkela )
| (C) Burnpur-Bokaro-Jamshedpur-
() W-ﬁwﬁ—m—ﬂm Rourkela
(D) Jamshedpur-Rourkela-Burnpur-
(D) W-—m—m‘m Bokaro
: et Herd 08. Whichofthesewaves causescontraction
98, gr%ﬁaﬁqmaﬁagﬁﬁ gpaid and expansion in the rocks ?
87 . (A) 'S’ waves
() '8 i (B) ‘P’ waves
(B) Py (C) Surface waves
(C) et o (D) None of the above
(D) IRiea 1 =i el

PG-05/A
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(C) TEmm (D) fire

100.  ivUq i whin % S1gaR Bhwh e T

SICTeTY gl uTg STel § 7
(A) TSR
(B) S Td et
(C) T
(D) ifgan
101, “Feh! - R -3 -FverEme” yiygres
T foram ?
(A) HfRuE eI
(C) & (D) 3
102. GEl %2 1 T A
HHEUT Ufdute®
a. THEIqEe 1. gide
b. YR dd 2. ¥
c. Jafvra aiET 3. Toretl
d. JaT 4, firasd

T

(B)
©)
D) 2

a d

A) 2 1 4 3
2 3

2

—
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Where is the evidence of the oldest
urbanization in the world ?

(A) Mesopotamia  (B) Sindhu
(C) Harappa (D) Egypt

As per the Koppen’s scheme the Bhwh
type of climate is found in

(A) Rajasthan

(B) Jammu & Kashmir
(C) Gujarat

(D) Odisha

Who propounded the concept of
“Stop-and-go-determinism” ?
(A) Mackinder (B) Blache

(C) Strabo (D) Taylor

Choose the correct code :
Concept Propounder

a. Uniformitarianism 1. Powell

b. Base level 2. Hutton
c. Graded river 3. Crickmay
d. Panplain 4. Gilbenrt
Code :

a b c d
(A) 2 1 4 3
(B) 2 1 3

2
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Which one of the following statements
is false ?

(A) The population in metropolitan
cities and conurbations of India
is increasing rapidly

(B) The four metropolitan cities
(Mumbai, Kolkata, Chennai, Delhi)
account for over 85 percent of the
richest people of the country

Conurbations in India are
characterised by poverty,
unemployment, insecurity
and high rate of crime

There is adequacy of civic
amenities and infrastructural
facilities in metropolitan cities and
conurbations, consequently life is
enjoyable

‘Bushmen Hotentat’ race is concerned
with

(A) Negroid

(B) Caucasoid

(C) Mongoloid

(D) Australoid

Major area of Fishing is

(A) North-Eastern Coastal area of
North America

(B) South-Western Coastal area of
Australia

(C) Southern Coastal area of South
America

(D) Northern Coastal area of Soviet
Russia

Where shifting cultivation is called
‘Milpa’' ?

(A} Central America

(B) Gabon

(C) Philippines

(D) Guatemala

PG-05/A
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107, S g arsawi (sam) (1999) %
R, EECICEICICEn e Crl
e (3 TR R

(A) %< (2014)

(B) Hretret (2014)

(C) 4mt (2011)

(D) HIf (2013)

ST eSO B sdareft dmr =)
Fed B

(A) Sty (B) R

(C) sT= (D) Senfery

TR o9 ST % feifad § deag
FgTRi T sea g ?

(A) == (B) fermm

(C) W=l (D) €%

108.
109.

(4) FFF T>9 STfeRT -t g3
| A

(B) i7=rlt 7 - moram, f weramm
i

(C) TEHTI AT SreAqn

(D) AT Tel - iedvE werE

TreAfetied § A ava i fom el 3 go)

a1 AT TFAT TR S 2 7

(A) SITTETE Q9T feoaae)

(B) 3T, ST 31T 31efan

C) aeiH iR sy

D) ESTRIEITT, TR e vy
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city has been
cyclone after
1999).

The maximum wind velo
Strar Cyclona of Odisha
(A) Hudhud (2014)

(B) Nilofar (2014)

(C) Thane (2011)

(D) Phallin (2013)

Magma solidified into very deep layer
is called

(A) Laccolith
(C) Dyke

(B) Sill
(D) Batholith

What is called loess deposits in the
Mississippi of the United States ?

(A) Adobe (B) Limon
(C) Playa (D) Seif

Main Ocean Trade route of the world
is not

(A) U.S.A. Western Europe Ocean
Route

(B) Western Europe Mediterranean-
Indian Ocean Route

(C) Cape of Good Hope Ocean Route

(D) Panama Canal-Newzeland Ocean
Route

In which of the following districts in India
‘The largest Mica belt’ is found ?

(A) Balaghat and Chhindwada

(B) Udaipur, Ajmer and Alwar

(C)

(D) Hazaribagh, Gaya and Munger

Salem and Dharampuri
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112, The process in which one plate slides
beneath another is called

(A) Advection

(B) Subduction

(C) Convergence

(D)

D) Convection

113. ‘Sargasso Sea’ is a part of which
(A) 3. FSATESH TR ocean ?

(B) T. 3TTAT~eh HETEN (A) N. Atlantic ocean

(C) TRIT<I HEHTR (B) S. Atlantic ocean

(D) ST SATEh{eTH HETETR

(C) Pacific ocean
(D) N. Arctic ocean

114, PeRifea A @ s T AT HR@RT | 114. Which one of the following cement

gafea i 8 7 plants is not correctly matched ?
(A) HERIS,  — L (A) Maharashtra — Chanderpur
(B) BUIEG - T (B) Chhattisgarh ~ — Moedigram
Q) @ - TSR (C) Jnharkhand —~ Banjari
(D) T IRl — [&OoiaR (D) Madhya Pradesh— Vikramnagar
; 115. Which one of the following statements
115, Pt i & o6 a1 T R S ! is false 2 |
r (A) ﬁﬁmﬁaﬁﬂﬁmﬁwﬁ (A) Average salinity in Northern
hemisphere is less than that of
Telle, & A - Southern hemisphere
;E‘rqa;gﬁﬁ—tlﬁ‘ﬁazm (B) Guif stream increases .salinity
®) W@ﬂ - in the North-Western coast of
T Sl <l 8 Europe
(C) Wi TgraTd i =g Adord! Al (C) letiir%/;mnic conditions decrease
il g ) qﬁ%ﬂﬂ o (D) The Eastern part qf Mediterranean
(D) e e 35 e ) camparisoirto Wost gt
£ 5 mmggn?ﬁ p o Western part
29 PG-05/A
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116, Irreror-frafiars ot framear =

17, Teh-hw 2
(A) TSt 4 T 7

(B) T HEErRE 9/

(C) "E%_‘C-T @naﬂa;{:m:{m

(D) U gtiaedg &

HYF TS emifET § TR W wn
FEd 8 7

(A) e

(B) I W™

(C) I gi=

(D) eTe U

118.

119, et itk v o srafer o 2 7
(A) U=t el | f Tat
(B) =50 wét & 2wt wdt
(C) = Tt & ot gt
(D) =<t o<t @ ared el

120. I AU § Y99 A% qITepid
T o fFd e S 8 7
(A) Sfi.a, fiead
(B) ¥1.€5¢q, TIAA
(C) T3, TH. efaa
(D) ©t.3. geA
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ountry ‘Envrromueﬁﬁ:-

In which ¢

Determinism’ was born ?

(A) Germany (B) Fra'nce
(C) Britain (D) India

‘Gulf-Stream’ is

(A) A riverinthe Gulf

(B) An Oceanic Current

(C) Another name of ‘Z' stream

(D) A surface wind

What is Tornado called in USA 7
(A) Twister

(B) Water spout

(C) Tight vortex

(D) Slope wind

What is the period of ‘Dark Age’ in
Geography ?

(A) 15t Century to gth Centur&r

(B) 2" Century to 10t Century
(C) 3" Century to 12" Century
(D) 4™ Century to 12th Century

Who is called the first reaj
geomorphologist in North America ?

(A) G.K. Gilbert
(B) J.W. Powell
(C) W.M. Davis
(D) C.E. Dutton
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121, freferfad 1§ 8 =l w1 7w 3 | Ae T
Qe ?
AEH HT AT I T AT
(A) 3.T. T T W5 3175
ISRIPIED
(B) AT FAT  TESS T ot
ISRIDIED
(C) 3RS, fefra  Misoig o1fw
IERIPIE
(D) T, T 3 s a1
T fees sfean
122, ‘INEST T TITHI 2
(A) T8 -7
(B) femrft q-gea
(C) #R q-gwa
(D) T -5
123, gaﬁﬂﬁaw%mﬁﬁwww
?
(A) T (B) TR
(C) SR (D) THEH
124, TRA 1 SR STOR ) 3162 A TR
TEYU! TS 8
(A) if (B) T=I
(C) sfean (D) HigaT
125, e guSETE] dfaw gawd 3
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121.

Name of Author
(A) E.A. Ackerman

GET IT ON S
Google Play

Which one of the following pairs is not
correctly matched ?

Name of the Book

The Science of

Geography

(B) T.W. Freeman A Hundred Years
of Geography

(C) R.E. Dickinson Problems of
Geography

(D) A.C. Das The Geography of
Rgvedic India

122. ‘Yardangs' is a topographic feature of

123.

124.

125.

(A) Aeolian landscape
(B) Glacier landscape
(C) Karst landscape

(D) Fluvial landscape

What is called hot and dry winds in
Egypt ?
(A) Simoon
(C) Bora

(B) Harmattan
(D) Khamsin

The most prominent port of India in
view of international trade is

(A) Kocchi (B) Mumbai
(C) Haldia (D) Kandla
American sociologist Lewis Mumford

has described how many stages of
development of cities ?
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